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<p><strong> <a href="https://link.hacpai.com/forward?goto=https%3A%2F%2Fdocs.opencv
org%2F3.4. O%2Fd4%2Fd86%2Fgroup imgproc filter.html%23gaeb1e0c1033e3f6b891a25d0
11362aeb" target="_blank" rel="nofollow ugc">cv.erode()</a> </strong>, <strong><a href=
https://link.hacpai. com/forward?goto=https%3A%2F%2Fdocs.opencv.org%2F3.4.0%2Fd4%2F

6%2Fgroup |mgproc filter.htm|%239a4ff0f3318642c4f469d0e11f242f3b6c" target="_blank
rel="nofollow ugc">cv.dilate()</a> </strong>, <strong><a href="https://link.hacpai.com/fo
ward?goto=https%3A%2F%2Fdocs.opencv.org%2F3.4.0%2Fd4%2Fd86%2Fgroup _imgproc__fi
ter.html%23ga67493776e3ad1a3df63883829375201f" target="_blank" rel="nofollow ugc">cv
morphologyEx()</a> </strong></p>
<script async src="https://pagead2.googlesyndication.com/pagead/js/adsbygoogle.js"> </scr
pt>
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<ins class="adsbygoogle" style="display:block" data-ad-client="ca-pub-5357405790190342"
data-ad-slot="8316640078" data-ad-format="auto" data-full-width-responsive="true"> </in
>
<script>

(adsbygoogle = window.adsbygoogle || []).push({});

</script>
<h2 id="1#ig">1#ig </h2>
<p>FLASEMR—LETERNEREEE. BARMIN, F—IEREEGR, S MUMEEETE
structuring element)&iE& Wiz (kernel). PMEARNFSEHRERIRFT K</p>
<h2 id="{2{#-Erosion-"> {2t (Erosion)</h2>
<pre><code class="language-python highlight-chroma"> <span class="highlight-kn">impor
</span> <span class="highlight-nn">cv2</span> <span class="highlight-kn">as</span> <
pan class="highlight-nn">cv</span>
<span class="highlight-kn">import</span> <span class="highlight-nn">numpy</span> <s
an class="highlight-kn">as</span> <span class="highlight-nn">np</span>
<span class="highlight-n">img</span> <span class="highlight-0">=</span> <span class=
highlight-n">cv</span><span class="highlight-0">.</span> <span class="highlight-n">imre
d</span> <span class="highlight-p">(</span><span class="highlight-s1">"j.png'</span><s
an class="highlight-p">,</span><span class="highlight-mi">0</span> <span class="highlig
t-p">)</span>
<span class="highlight-n">kernel</span> <span class="highlight-o">=</span> <span clas
="highlight-n">np</span><span class="highlight-o">.</span> <span class="highlight-n">0
es</span><span class="highlight-p">((</span><span class="highlight-mi">5</span> <span
class="highlight-p">,</span> <span class="highlight-mi">5</span> <span class="highlight-
">),</span><span class="highlight-n">np</span><span class="highlight-0">.</span> <spa

class="highlight-n">uint8 </span> <span class="highlight-p">)</span> <span class="highli
ht-c1"># use a 5x5 kernel with full of ones</span>
<span class="highlight-n">erosion</span> <span class="highlight-o">=</span> <span clas
="highlight-n">cv</span> <span class="highlight-o">.</span><span class="highlight-n">e
ode</span> <span class="highlight-p">(</span> <span class="highlight-n">img</span><s
an class="highlight-p">,</span><span class="highlight-n">kernel</span> <span class="high
ight-p">,</span><span class="highlight-n">iterations</span> <span class="highlight-o">
</span> <span class="highlight-mi">1</span> <span class="highlight-p">)</span>
</code> </pre>
<p>Elf& <img src="https://static.hacpai.com/images/img-loading.svg" alt="j.png" data-src="
ttps://static.oschina.net/uploads/img/201712/31071414_3tHA.png" > <strong>{&{# < /strong
[ER9455R:  <img src="https://static.hacpai.com/images/img-loading.svg" alt="erosion.png" d
ta-src="https://static.oschina.net/uploads/img/201712/31071414 8dAn.png"></p>
<h2 id="¥"5Kk-Dilation-"># 3K(Dilation)</h2>
<pre><code class="language-python highlight-chroma"> <span class="highlight-n">dilatio
</span> <span class="highlight-o">=</span> <span class="highlight-n">cv</span><span
lass="highlight-0">.</span><span class="highlight-n">dilate</span> <span class="highligh
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-p">(</span><span class="highlight-n">img</span> <span class="highlight-p">,</span><
pan class="highlight-n">kernel</span> <span class="highlight-p">,</span><span class="hi
hlight-n">iterations</span> <span class="highlight-0">=</span> <span class="highlight-m
">1</span><span class="highlight-p">)</span>

</code></pre>

<p>Elfg<img src="https://static.hacpai.com/images/img-loading.svg" alt="j.png" data-src="
ttps://static.oschina.net/uploads/img/201712/31071414_3tHA.png" > <strong># 5 </strong
[ER9455R:  <img src="https://static.hacpai.com/images/img-loading.svg" alt="dilation.png" d
ta-src="https://static.oschina.net/uploads/img/201712/31071414 dZZ0.png"></p>
<h2id="&FXH">SE < /h2>

<p><a href="https://link.hacpai.com/forward?goto=https%3A%2F%2Fdocs.opencv.org%2F3.
0%2Fd9%2Fd61%2Ftutorial py morphological ops.html" target="_blank" rel="nofollow ugc
>Morphological Transformations</a></p>
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